Complete the sentences with the correct form of the verbs in brackets:
to+ infinitive, gerund ( -ing) or bare infinitive.

After -1- (do) the same job for 10 years, I quit.
Instead of-2-(eat) at home we went to eat out.
[’m not looking forward to-3-(visit) the doctor.
We must-4-(solve) the problem.

There is no point in-5-(work) if you don’t need money.
Did you remember -6-(phone) your sister?
Would you like me-7-(open) the window?

I need a change. I need-8-(go) away.

Linda spent 2 years-9-(travel) in Europe.

I’d rather-10-(wait) till later.

Mary promised-11-(buy) me a drink.

[ wasn’t tall enough-12-(reach) the shelf.

[ haven’t got anything nice-13-(wear).

Shall I-14-(close) the window?

[ called my doctor -15-(make) an appointment with her.
It’s useful -16- (learn) a foreign language.

Are you fast enough -17- (arrive) on time?

[ won’t -18-(talk) to you again.

There was nobody -19- (dance) with.

How about -20- (play) a game of cards?

[’d like you -2 1- (continue) working.

She didn’t succeed in -22- (convince) her.

Did your parents let you -23- (go) out with Jim?
Do you know how -24- (get) to the airport?
Don’t you think it’s too expensive -25- (buy)?
It’s worth -26- (have) a look at this wonderful view.
[ didn’t know who -27- (ask).

Are you interested in -28- (visit) art galleries?
My sister goes -29- (run) every second day.
Why can’t you -30- (work) more efficiently?
-31- (travel) by car is very comfortable and fast.
We always have something -32- (talk) about.
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